AT SEMAER SN SRS
Hu: APRSAYAND(SHLLM/5Y - 5E)
Sl HBASY |4 CERED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
MEHA=S 108,614,336 103,064,784 5,549,552
= 79,287,463
Xl 13,760,000
Jl 413,222
= 15,153,651
Al SAMAN D (selLY S /sH - =) 86,167,681 78,268,608 7,899,073
= 75,729,488
Jl 413,222
& 10,024,971
MEtd=s0 24 24,526,360 23,925,533 600,827
= 21,033,784
J| 120,000
o 3,372,576
SI&EH2 XN (=1) 16,434,880 15,344,000 1,090,880
= 14,674,000
= 1,760,880
308 MXISHHMSOIA 16,434,880 15,344,000 1,090,880
= 14,674,000
& 1,760,880
01 IXHHIMNEEXTZ 16,434,880 15,344,000 1,090, 880
OKRJIEH =22 16,434,880
= 14,674,000
& 1,760,880
EUHSH KA (Z21D) 4,222,942 4,161,576 61,366
= 3,741,847
= 481,095
308 XHXIEHSOIA 4,222,942 4,161,576 61,366
= 3,741,847
o= 481,095
01 AIXSHMEMNEX= 4,222,942 4,161,576 61,366
OELIMM X & 4,222,942
= 3,741,847
= 481,095
A=A RYHINEM(=ZD) 2,139,000 1,613,000 526,000
= 2,139,000
308 XAHXIGHHMSO0|& 2,139,000 1,613,000 526,000
= 2,139,000
01 IHXHHNBIMNEXS 2,139,000 1,613,000 526,000
oOXstdA=s MNEXN=EA 2,139,000
= 2,139,000
EH SHE SEE 45 409,300 418,300 A9,000
202 044 10,000 10,000 0
01 2L I 10,000 10,000 0
OFEAHA=Y SHHLR =& 10,000
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M ox
40 5 4

™1z o

EUAE SN B
FNSAYHAND(SYHL 2L /5Y - 5E)
2352 54

W

79,515

= - — SHE|
2RI BIEH) - HRAY - BES e Hl D= 2t
308 X EHSOIA 64,800 0
01 HIXNHHBHNEELES 64,800 0
OXEY ASSNS BH N 64,800
403 MtXISHHE X201 & 334,500 A 9,000
01 XM A=2EE 334,500 A9,000
ot Edsits Bs=F[AE - ZHXA 81,000
Oz EdsitE RFSEHIXNA 22,500
oZdAsitE S=4H XX 168,000
Oz EFdsLE AL EXXA 63,000
3= HAEI|E EF 223,800 30,000
403 X SHHSA=0l& 223,800 30,000
01 X SHMA=E X 223,800 30,000
orEd=sy ANEMACR =4 97,200
ORESBASHE ASHLAALE XL 21,600
ORIIsttE H=E - JI3AE XA 105,000
e s =3 92,700 A 131,850
308 XXM SO A 92,700 A 131,850
01 AXSHHBLEES 92,700 A 131,850
orEd sk 23 92,700
A=y =& 153,280 A 44,000
307 21201 A 40,000 15,000
04 QIZFHALAIH B = 40,000 15,000
oz EdsitE e sl 40,000
308 MXIEHMSOIH 113,280 259,000
01 AXSHBLELS 113,280 A 59,000
Oz EFdsitE UESEAH| 108,000
OF IS M2)|= FEMZS 5,280
=H &S SANUHAA(Z2) 438,243 A287,134
= 302,237
< 136,006
308 XX EHH SOl A 438,243 A287,134
= 302,237
< 136,006
01 IXNHHEBAMNEES 438,243 A 287,134
O=HIZ=S XA 438,243
= 302,237
= 136,006
2I s XNEAE(=210) 256,215 54,665
176,700




AZ: sEAAER SH HHASYDY
HE: MYNSAVAND(STHL2M/5Y - 55)
ool AEASY S4 CERED
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
308 X EHSOIA 256,215 201,550 54,665
= 176,700
< 79,515
01 HIXNHHBHNEELES 256,215 201,550 54,665
I sk K& 256,215
= 176,700
< 79,515
ZSHEHIMAAL S AE(=2) 156,000 156,000 0
J| 120,000
< 36,000
403 MtXISHHE X201 & 156,000 156,000 0
J| 120,000
< 36,000
01 XM A=2EE 156,000 156,000 0
OXSAEHI MAALE S AL 156,000
J| 120,000
< 36,000
aarey ZdH A5t 37,193,362 30,866,776 6,326,586
= 36,168, 140
J| 293,222
< 732,000
DEEH M 702,000 773,000 A71,000
202 odl 7,000 7,000 0
01 S LHOIYI 7,000 7,000 0
oA =X 7,000
308 X EH SOl A 575,000 575,000 0
01 HIXNHHNBMNEELES 575,000 575,000 0
ONZTEH MM =4 75,000
OH MHHE 45 5 =T XA 500,000
403 A X EHHS =0l A 120,000 191,000 A71,000
01 X EHHMA=2LE L 120,000 191,000 AT71,000
oH ERAE XA 76,500
OH s=2=2¥¢ 18,000
Ol 2Xel& oA 58,500
OFAAH B=2AXD| 2= 30,000
ol R 28| 13,500
g2 29(=12) 75,000 75,000 0
= 75,000
201 ¢er24| 13,400 13,400 0
= 13,400
01 At 22l 11,900 13,400 A 1,500
oOLFYR =& 11,900
= 11,900
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A SEUAER SN HBFEYD
HE: MYNSAVAND(STHL2M/5Y - 55)
el mAe AW s (B9 ®R)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
02 =224l 1,500 0 1,500
OLFHR HERA 1,500
= 1,500
202 44l 14,000 14,000 0
= 14,000
01 SLHOYI 14,000 14,000 0
ogZFzel F& 14,000
= 14,000
308 A EHHSOIA 47,600 47,600 0
= 47,600
01 HIXNHHNBMNEES 47,600 47,600 0
OAZ 2Z322gR =2 47,600
= 47,600
HAAESHASH (AE 2elH 21) 293,222 275,776 17,446
J| 293,222
308 XXM SOl A 293,222 275,776 17,446
J| 293,222
01 IXNHHBNEES 293,222 275,776 17,446
BAASESHMASH (AL 2teldl) 293,222
J| 293,222
HAS BEAZYINEM (=) 36,093, 140 29,720,000 6,373,140
= 36,093, 140
308 XX ©H A S0 & 36,093, 140 29,720,000 6,373, 140
= 36,093, 140
01 X HHILEES 36,093, 140 29,720,000 6,373,140
OMASEEAZREAM 36,093, 140
= 36,093, 140
o Mgs =4 30,000 8,000 22,000
308 A EHHSOIA 30,000 0 30,000
01 HXNHHNBHELS 30,000 0 30,000
o dMYs SEXE 30,000
L2 MADIEH =4 9,511,599 9,175,939 335,660
= 8,324,364
< 1,187,235
FTACHE &&= 334 M 763,035 880,075 A 117,040
202 O4dl 4,000 4,000 0
01 2U0i b 4,000 4,000 0
OFTALIS =2 AmMe =z 4,000
307 21201 A 20,000 0 20,000
04 QIZFHALAIH B = 20,000 0 20,000
o&=4y 243l 20,000

- 255 -




AT SEMAER SN SRS
Hu: APRSAYAND(SHLLM/5Y - 5E)
Sol BEE MADIB I (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
308 X EHSOIA 405,360 446,400 A41,040
01 HIXNHHBHNEELES 405,360 446,400 A 41,040
ONZSEZ XA HATHE X3 77,760
oS+ EE3 75,000
OZAZEBASHE AL XA 252,600
403 MtXISHHE A0l & 333,675 429,675 A 96,000
01 X SHHA=2E = 333,675 429,675 296,000
(OF 522 N SN S ) 105,000
OrEd SR =4S 72,675
(OFS e PN e Rl s 42,000
ogxzs EEAME K& 12,000
OLDT0F MADBHAIE AXI 12,000
OZ XL REAE XE 90,000
ga= ZSM HES 54 900,000 450,000 450,000
= 600,000
< 300,000
403 UHXSHHSA=0l& 900,000 450,000 450,000
= 600,000
< 300,000
01 XM= E L 900,000 450,000 450,000
ogzzs LM HES (7 F222 I
x=4) 900,000
= 600,000
< 300,000
gsdAEN(=2) 7,724,364 7,724,364 0
= 7,724,364
308 MHXIEHSOIH 7,724,364 7,724,364 0
= 7,724,364
01 HXNHHBHEELS 7,724,364 7,724,364 0
Oogsg A=A 7,724,364
= 7,724,364
s Mol =+ 124,200 121,500 2,700
308 AHXIEHHSOIA 124,200 121,500 2,700
01 HIXNHHNBMNELS 124,200 121,500 2,700
O=ZEMl2E XA 124,200
I A & AS0HE 14,936,360 14,300, 360 636,000
= 10,203,200
S 4,733,160
SIH LA (=222) 3,000,000 3,000,000 0
= 2,500,000
< 500,000
403 MtXISHH S A0l & 3,000,000 3,000,000 0

- 256 -




AT SEMAER SN SRS
Hu: APRSAYAND(SHLLM/5Y - 5E)
Sl SN U ASOHE CERED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
= 2,500,000
& 500,000
01 XIS A=Z2E X 3,000,000 3,000,000 0
OsIIHL AL 3,000,000
= 2,500,000
= 500,000
TAHECIXNEESHA (Z1D) 8,088,360 8,088, 360 0
= 7,703,200
=} 385, 160
308 MXISHMSOIA 8,088,360 8,088, 360 0
= 7,703,200
=} 385, 160
01 IXHHIMNEEXTZ 8,088,360 8,088, 360 0
OXAHZBLIANEAN=ZHEX=S 8,088,360
= 7,703,200
& 385, 160
s HZE=2 3,743,000 3,212,000 531,000
202 o4 | 7,000 7,000 0
01 2L HI 7,000 7,000 0
O=sdIIAHE L ASHFFX 7,000
308 XAXISH SO0l & 2,458,000 1,957,000 501,000
01 AIXSHHENEXZ 2,458,000 1,957,000 501,000
O=g& HAHl® 2Hl X& 2,314,000
OLU=IIAH =el&d9Hl N 144,000
403 XX SHHS K20 & 1,278,000 1,248,000 30,000
01 XIS A=Z2E X 1,278,000 1,248,000 30,000
OHE=sIIH LUHAH 990,000
OA8sIIAH LUHXA 144,000
OsJIH A g X& 144,000
NE=Yol =& A& 105,000 0 105,000
308 XHXIGH SO0l & 105,000 0 105,000
01 AIKISHEBENEXZ 105,000 0 105,000
O1NdE=Yo s&HAH XA 105,000
SAMAD|IEE R (sEHLYSH/ s - =) 20,045,895 22,364,895 A2,319,000
= 3,557,975
Xl 13,760,000
o= 2,727,920
NN S22 HH =E 7,209,000 9,470,000 AN2,261,000
= 3,526,000
Xl 1,723,000
= 1,960,000
BE=IJH S AL (2 1) 3,226,000 4,756,000 A 1,530,000
= 3,226,000
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AR sEUAESR SN AHFSYD
A sAMMIIE M (SHHSLM/S5Y - 58)
Sl SN BADIMA =Y SERED)
CRA - S(BH) - HRAY - BAS il HlnE2
402 BIZHXHZ 01 & 3,226,000 4,756,000 A 1,530,000
= 3,226,000

01 It 2 AL E X 3,226,000 4,756,000 A 1,530,000
Ot 3,226,000
= 3,226,000

St HHl E+MLAE(Z2) 300,000 300,000 0
= 300,000

403 XSS A0l & 300,000 300,000 0
= 300,000

01 XM A=2EE 300,000 300,000 0
ostgitlssoe 300,000
= 300,000

AR sESS HEMG (S -} 694,000 834,000 A 140,000
Xl 694,000

403 A X EHHS =0l A 694,000 834,000 A140,000
X 694,000

01 X SHHX2E = 694,000 834,000 A 140,000
OALRARsEETNHY 694,000
Xl 694,000

SEME E2MLAL(ZR-s4ER) 756,000 976,000 A 220,000
Xl 756,000

403 UHXSHHSA=0l& 756,000 976,000 A 220,000
Xl 756,000

01 X ESHHMA=LE L 756,000 976,000 A 220,000
OsEsUEEs WY 756,000
X 756,000

SEME ELMYAL (-0 F) 273,000 389,000 A 116,000
Xl 273,000

403 XIS E =0l & 273,000 389,000 A 116,000
Xl 273,000

01 HAXSHMA=2EE 273,000 389,000 A 116,000
OsEsddEss WY 273,000
Xl 273,000

|2 =2lAld HE = 336,000 448,000 A 112,000

403 XIS S X201 & 336,000 448,000 A 112,000

01 X SHMA2E X 336,000 448,000 A 112,000
=clAlE HE=> 336,000

eHE IISHBEAS 160,000 100,000 60,000

403 MHXHHSA=0l& 160,000 100,000 60,000

01 X HHMA=2LE X 160,000 100,000 60,000
OEXZ JISUHHAY 160,000
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AR EEANAER SN ABHSYDY
A sAMMIIE M (SHHSLM/S5Y - 58)
Sl SN BADIMA =Y (B9 ®R)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
THEEORE AFZEXICH (M =X ) ol A& CH =K 656,000 440,000 216,000
403 UHXISHHSA=0l& 656,000 440,000 216,000
01 XM= E L 656,000 440,000 216,000
OL=EM=X & E=- 22 656,000
= MADBEFEHIALS 808,000 700,000 108,000
403 XSS A=0l& 808,000 700,000 108,000
01 XM A2E X 808,000 700,000 108,000
O=Z M aD|eHE | 808,000
S MADIBE FH| 12,836,895 12,894,895 A 58,000
= 31,975
Xl 12,037,000
< 767,920
SYMA JIBHEHIAIE (& - 2DI8H)(=1) 10,759,920 9,909,920 850,000
Xl 9,992,000
< 767,920
202 044l 18,920 18,920 0
01 = LH o4 1l 18,920 18,920 0
Os=sTHLDIIBHEEBIAIYE HRFX 18,920
403 A X EHHSKH=20IA 10,741,000 9,891,000 850,000
Xl 9,992,000
< 749,000
01 X ESHHMA=E L 10,741,000 9,891,000 850,000
ot== AXAHel 4,485,000
Xl 4,172,000
< 313,000
OgJler i 6,256,000
Xl 5,820,000
< 436,000
JIAHSFEZ SEZHANL(ZD-s4ER) 702,000 1,085,000 A 383,000
Xl 702,000
403 A XM S =0l A 702,000 1,085,000 A 383,000
Xl 702,000
01 XXM 22 = 702,000 1,085,000 383,000
OJIAstE&Z &2 F 702,000
Xl 702,000
IS EEZ SEEANY (S D-2HHL) 1,343,000 1,868,000 A 525,000
X 1,343,000
403 MHXSHHSA=0l& 1,343,000 1,868,000 A 525,000
Xl 1,343,000
01 HXSHHMA2E X 1,343,000 1,868,000 A 525,000
OJIHAIEZ =Y 1,343,000
Xl 1,343,000
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